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CE-301 (A) : Cost & Financial Accounting
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(A) A Product passes through three Processes X.Y and Z. Ffom'the following
Information prepare Process Accounts and Abnormal Wastage or Abnormal Gain

Account : 14
Particulars Process - X | Process-Y | Process-Z
Unit introduced (per unit ¥ 20) 5.000 — =
Actual Production 4.700 4,300 4.050
Normal Wastage (as a % of input) 5% 10% . 5%
Selling price of wastage (per unit) () 10 50 60
Direct materials | ) 97,500 99,100 1,55,600
Direct labour (%) 30,000 50,000 80,000
’roduction Overhead were ¥ 3,20,000, which are distributed among all three
processes in the ratio of direct labour.
OR | |
(I) In the course ot manufacture of the main product M, by-products R and S
also emerge. The joint expenses of manufacture amount to ¥ 9.56,000. All
the three products are processed after separation sold as per details given -
below : 7
Particulars | Main Product - By-Product
| ' M R S
Sales < 7,20,000 | ¥4,80,000 |%3.20.000
Cost incurred after separation I E 48,000 < 40,000 < 32.000
Profit & 25 % on sales | 25% on cost | 15% on sales
Total Fixed selling expenses are 10 % of total cost of sales, which are
apportioned to the three products in the ratio of 1 : 2 : 2,
Prepare a statement showing apportionment of joint costs.to the main
product and the two by-products,
(2) Explain the difference b;;ween Process costing and Job costing. v

\F-101 o £ 9 P.T.O.



(B) " State whether the followiiig statements are true or falsé’: (any four)’
y (l') \

(2) Joint products means production of two or more same important item.

In Process Cost Accounts, abnormal l(;ss is debited to Profit 1ﬂnd Loss A/c.

(3) By-Product means product of less importance in comparison with main

product.
(4) Abnormal gain is written on credit side of the Process Aeeount.
(5) Normal loss is transterred to Costing Profit and Loss Account.

(6) In process costing, if the actual loss is less than the normal loss, the

difterence is considered as abnormal loss.

o~

(A) Atul Co. Ltd. produces a product that passes through two processes before. it is

~transterred to finished stock. The following information is available for June-2018.

NF-101

Particulars Process-1 | Process-11 Finished
) ®) Stock (%)
Opening stock 30,000 36,000 90.000
Direct Materials 60,000 63,000 -
Direct wages 44,800 45,000 -
Factofy.oyerheads 42,000 | 18,000 ,
Closing stock 14,800 18,000 45,000
Inter process profit for Opening stock — 6,000 33.000
Profit Percentage on transfer price 25 20 =
to next process

Stock in processes are valued at prime cost and finished stock has been valued at

the price at which it was received from process-11. Sales during the period were

Z 5,60.000.

|

Prepare and Compute : (a) Process Accounts showing profit at each stage

-(b) ‘Statement showing actually realized profit

(c) Stock valuation for Balance Sheet purpose.

OR



(1)  The fnllnwm;, information is given in respect. of process No.-3. for the .

(

)

month of Apul 2018,

~ Opening stock - 2,000 units made up of :

Direct Materials - 1. < 12.350
Direct Materials - 11. < 13,200
Direct Labour. % 17.500
Overheads. 211,000

Transferred from process No.-2 : 20,000 units @ < 6.00 perunit,

- Transferred to process No.-4 : 17,000 units-

Expenditure incurred in process No.-3 :

Direct Materials. * < 30,000
Direct labour. < 60,000

Overheads. T 60,000

Scrap : 1,000 units
degree of completion : Direct ‘materials -100%, Direct labour - 60%,

Overhead - 40%
Normal loss : 10% of productionn.
Scfapped units realized ¥ 4'per unit.

Closing stock : 4000 units
Degree of completion : Direct materials 80%, Direct labour - 60% and

overheads = 40%

According to average method, you are required to prepare :

(a) Statement of Equivalent production

(b)  Statement of cost |

The following information relating to production of process-II is available : 7
In process-11 Opening Work-in-progress 2,000 units at ¥ 25,750

Degree of Completion : Materials - 80 %, Labour - 60%, overhead - 60 %
Transter from process-I _5-3,0{}0 units at < 4,11,500

Transfer to process-111 : 48,000 units

Units Scraﬁped : 2,000 unlits

Degreee of Completion': Materials — [00 %, Labour- 70%, overhead - 70 %
Closing stock : 5,000 units

Degree of Campletion : Materials — 70 %. Labour - 50%, overhead - 50 %
Normal loss : 5% of production
Prepare Statement of equivalent production aé per FIFO method.

» | 3 P.T.O.



(B) Select the correct answer for the following sub-questions : (any four)

NF-101

(1) Product cost of pmpESS'l 1s ¥ 1,50.000. If proht is added at 25% on transter
prlce show the amount of profit

(£ 50,000 (B) 37,500

(C) ¥30,000 " (D) None of the above
(2) Information of process-X : -

Total expenses < 3,60,000

Total Cost | < 3,00,000

Total profit < 60,000

Closing stock < 18,000

Unrealized profit in closing stock wiil be as under -

(A) 3,000 (B): %.3.,600

(C) 3,400 (D)%< 3,500

(3) Units introduced in process-15: 30,000, Actual production 26,500 units.
Normal wastage 5 % of input, then whﬂt will be the abnormal wastage units ?

(A) 2,000 Lll'!ltS (B) 3.500 units
(C) 2,500 units (D) 3,000 units

(4)  The production cost.of'aprocess is T 1.20.000. A profit of 75 % on transfer
j price is added, while transferring the ‘output to the next process. Calculate
the transfer price.

&) T 160,000 (B) ¥1,50,000
(C) < 1,44.000 ' (D) None of the above

(5) Sales units*50,000, opening stock 8,000 units. closing stock 12,000 units,
then production units will be

(A) 54,000 units \,(,53/ 46,000 units

(C) 58,000 units (D) 62,000 units
(6) Particulars of Process-Z are as under :

Opening stock 4,000 units

(Degree of completion : material 80 %)

Finished goods 33,000 units

Normal wastage ;2,000 units

Abnormal wastage - : 2,000 units

(Degree of completion : material 80%)

Closing stock . 3,000 units

(Degree of completion.: material 100%)
What will be the equivalent units of material as per FIFO method ?

(A) 38,400 units (B) 38,000 units
(C) 37,000 umts - . (D) 37,400 units

12



3. * (A) (1) Tl}'e following‘data are obtﬁined trom thé"l‘éfhnfds of Amar Ltd.
Particulars (%) )

Sales (10,000 units @ T 25) - 2,50,000

Materials consumed 1,00,000 '

Labour charges - 50,000

Variable overheads 25,000

Fixed overheads 45,000 2,20,000
Profit ' 30,000

-101

- (2)

(1)

Calculate : .
(1)  The number of units of sales to reach Break-even point.
(i)  The sales needed to earn a profit of 20 % on sales

(111) The extra units which should be soldto obtained the present profit if it
is proposed to reduce the selling price by 20%.

(1iv) The selling price per unit to be fixed to bring down its break-even
point to 5,625 units under present condition.

4

A company has a dhargin of safety at 20% and earned a profit of

< 8,00,000. If its eontribution-sales ratio is 40%, calculate its current sales
and fixed cost. |

' OR
A company manufactures two products X and Y, the details of which are

giverrbelow.

Particulars | - ProductX  ProductY
Contribution per unit () '1 | 60 40,
Labour hours per unit (hours) 20 10

Total tixed overheads - ¥ 25.000

It the labour is in short' supply, then production of which product is-
profitable ? If 14,000 labour hours are available, and the maximum output
of each product is 1,000 units, then how many units of each product should
be manufactured to get the maximum profit ? Also, derive the amdunt of

profit in that situation. | .,
(2)  Write short notes on : (any two)
(a) Relevant cost |
(b) Opporm'nity cost 24
(c) Utility of Break-even Analysis

13



(B) Select the correct answer for the following sub- questlnns (any three)

(1)

(2)

(3)

;_(4) .

5)

If margin of 'ﬂh.ty 1S 30 % . P/V ratio is 60 % and sales T 5,00, 000 thE

profit will be as under :

(A) ¥ 80,000

(B) 90.000

(C) T 1.,50,000

(D) < 3.00,000 '

If P/V ratio is 60 %, Margin of safety is 30 % and'sales is ¥ 8,00,000, then

break-even point will be as under.
(A) <4,80,000

(B) 5,60,000

(C) <3,20,000

(D) %5,00,000

Contribution =

(A) - Fixed cost + Loss

| (B) Sales — Variable cost

(C) Fixed cost + Variable cost

(D) Selling price — Loss

Which of the following formula is true, to find Inut the ﬁrnﬁt ?

(A) Profit = Sales — Variable énst

(B)  Profit = Contribution — Fixed cost

(C) Profit = Sales — Fixed cost

(D) None of the above

Selling price of a unit is T 15 per unit. Vari.able cdst is 2 9 per unit Fixed
cost is ¥ 60,000. Calculate the sales required to earn a profit of T 4.000.

(A) % 1,50,000 .

(B) % 1,60,000

(C) % 1,40,000
(D) ¥ 1,65,000
14
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(A) Shankar Ltd. and Parvati w. were amalgamated on and from 1-4-2017. A new
company ‘Ganesh Ltd, was formed to take over the business of the existing

companies, - 14
Liabilities Shankar | Parvati Assets Shankar | Parvati
‘ - Ltd. Ltd. - Ltd. - Ltd.

_ ) (%) ) )
Equity shares of| 18.00.000 15.00.000 | Land & 15.00.000 [ 9.00.000
< 100 each fully Building
paid up ,

12%  Preference | 6,00,000| 4.50.000 | Plant & 9.00.000 | 6,00,000

Shares of ¥ 100 Machinery.
each fully paid up -

General Reserve 4,50,000 | 3.00.000 | Investments 6,00,000| 3,00,000

rlnvestment- 1.50,000 90,000 | Stoek 3.90.000 |7 2.10,000
Allowance reserve | /

| Export Profit| 2,40,000| 1,20,000{.Debtors 3.00,000 | . 4,50,000
Reserve -

Profit & Loss A/c I,SQAQQ{}_ﬂi.Q-l-‘SUU Cash & Bank 1.95.000| 3.,76.500
12% Debentures 1,50,000,/ 1,05,000

Creditors 2,470,000 = 1,20,000
Bills Payables 45,000 * 30.000
38,85,000 | 28,36,500 38,85,000 | 28,36,500

Additional Information :

(1) 12% Debentures of Shankar Ltd. and Parvati Ltd. are discharged by Ganesh
Ltd. by issuing such number of its 15% debentures ot T 100 each so as to

maintain the same amount of interest.

(2) Ganesh Ltd. will issue 4 equity shares for each 3 equity shares of Shankar
Ltd. and 3 equity shares for each 4 equity shares of Parvati Ltd. The shares

are to be issued at T 110 each, having face value of ¥ 100 each.

(3) Preference shares holders of the two companics are issued equivalent
number of 15% Preference shares of Ganesh Ltd. each of ¥ 100 at a price of

< 120 per share.
(4) Statutory reserves are to be maintained for 2 more years.

You are required to prepare the Balance Sheet of Ganesh Ltd. after the
amalgamation has been carried out on the basis of tfollowing assumptions:

Amalgamation is in the nature of merger. OR Amalgamation is in the nature of

purchase.
| OR
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(1)

(2)

(B)" Select the correct answer for the following sub-questions : (any three)

(1)

(2)

3)

(4)

(5)

Explain amalgamation in the form of merger and in the form of purchase
under standard 14 (AS-14).

What is amalgamation of companies ? Discuss the purpose of amalgamation. 7 .
3

7I.

If amalgamation is 1n the _the General Reserve or Profit and Loss
A/c balance will not be shown in the balance sheet.

(A) Consideration method (B) Net Assets method

(C) Form of purchase (D) Form ofimerger

When the Vendor (seller) company agrees to beﬁr liquidation expenses, I
will debited | -
(A) Profit and Loss A/c - (B)* Goodwill A/c
(C) Realisation A/c (D).’ Bank A/c

When Net Assets are less than the Purchase Consideration, the difference
will be | |

(A) Credited to General Reserve A/c
(B) Credited to Capital Reserve A/c -
(C) Debited to Goodwill A/c

(D) Debited to Profit and Loss A/c

In case of . one existing company takes over the business of another
company and no new company is formed.

(A)  Reconstruction (B) Amalgamation
(C). Absorption (D) None of the above

Akash Co.’s Balance sheet shown Fixed Assets X 8,00,000. The book value
of fixed assets is 25 % more than market value, calculate the market value

of the fixed assets.
(A) < 10,00,000 | (B) < 6,00,000
(C) %6,40,000 (D) R 10,66,667
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